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My 38 (50 43)
I f#: 1D 0B TIMMNA: n=1/b=1.5/0. 5=3,1=2/b=2/0.5=4, (14

ZERB: Ke=0. 060 (2 47)
O =4K,.p =0.060 100 * 4 = 24(kpa) 24
2) A RTINS : m=1/b=3/1=3, n=2/b=2/1=2, (1)
SBERMG: Ke=0.131 (2 4%)
0.y =K,.p=0.131*100 = 13.1(kpa) (2 43)
2y f#: BRI Lo
y=pg=1.84%10=18.4(kN/m") (3 43)

m=pv=184*1=1.84(g)

m 1.84
= = =1.39
T T T2 )

Vo= g =139%10 = 13.9(kN / m®) (24
v .

V,=v-y = y=l o 1 b = 0.485(cm™)
. 2. 2.70

*
g ug*muafw.&m 1410 =18.75(KN / 317) (3 43)
v !
V' =V =V =18.75-10 =8.75(KN / M°) (2 47)
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3. fift:  pac-2efk, =-2%10% tan(45-20/2) =—14 (kpa) (3 4)

2¢ 2%10
z, = = =1.68 247)
oS e TTrea@s—20r2) oo @5

pa,= y.hKa - 2e Jk, =17%6*tan? (45-20/2) ~2*10* tan(45—20/2)

=35.98 (kpa) (3 41)

Ea=35.98% (6-1.68) /2 =77.72(kN/m) (2 43)
VEFE BALE B 2= (h-z,) /3=(6-1.68)/3=1. 44 (m) (2 43)

v

L KX K

L zom 35.98 (344
4, fiE:

o, = (0, - 0;)+ 0, = 40+ 50 = 90(kPa)

o, = 50(kPa) (2 41)
7E (@ = 45° +mv@;__w."

a= WAQ_ +03)+ Wﬁo.ﬂ —-0o,)cos2a = Wﬂoo +50) + WGO —~50)cos118" = 60.61(kPa)

T uwﬁq_ ~0,)sin118" = wgolms%: 18° =17.66kPa (5 )

¢, =ctang+c=60.61xtan28 +10=4223kPa  KFr=1766kPa (5 77)
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B30 3T

48



